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Réponses

Ex. 98

1. 60

2. 72

3. 117

4. 42

5. 78

6. 96

7. 108

8. 120

9. 144

10. 136

Utilisez la propriété distributive pour résoudre chaque problème.

Ex) 7 × 14 = (7 × 7) + ( 7 × 7 )
=

9849 + 49

1) 12 × 5 = (6 × 5) + ( 6 × 5 )
=

6030 + 30

2) 4 × 18 = (4 × 8) + ( 4 × 10 )
=

7232 + 40

3) 13 × 9 = (5 × 9) + ( 8 × 9 )
=

11745 + 72

4) 14 × 3 = (5 × 3) + ( 9 × 3 )
=

4215 + 27

5) 13 × 6 = (6 × 6) + ( 7 × 6 )
=

7836 + 42

6) 12 × 8 = (5 × 8) + ( 7 × 8 )
=

9640 + 56

7) 12 × 9 = (9 × 9) + ( 3 × 9 )
=

10881 + 27

8) 15 × 8 = (5 × 8) + ( 10 × 8 )
=

12040 + 80

9) 8 × 18 = (8 × 8) + ( 8 × 10 )
=

14464 + 80

10) 8 × 17 = (8 × 8) + ( 8 × 9 )
=

13664 + 72
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